NCERT Solutions by Dev Anoop (Bathinda) ,
Ex. 14.2 Class VIII /g
) at+ 20363+ b7 <

math.com
)
~@3%) % axa x 6" +b?) ;
=(a*+ bg‘)& K -YY. %&2@*@_]
- (aF+b6M(a+ 6

ad 997~ 737 |
=@p)*—E4)
z@p PB?/)C&pﬁLij,) [_'.'Ci%-b&:@-b)(%gj

D esat-nab>
=7(94% -166%)
=7 [6a)3-46)7] o
= 7(sa-4s)(3ars) [iatE=G-B)ar)]

20D 9 xt 34
= @%)a—-« 6‘2
=(72-6)(72+6) [ @7-8"= @*é)C‘Z"%)j
AV  16x8 14y
ex® (x2-4)
a"xgcx‘n'- a=2
_ Y rx—3)(xt3) [radb3=G-5)(art)]

NCERT Solutions by Dev Anoop (Bathinda)

|

\!

Ex. 14.2 Class VIII



